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I. According to Maslow’s hierarchy of needs, the need for such factors as status,
self-respect. autonomy, and achievement are examples of which of the following
needs? (A) physiological (B)esteem (C)social (D) self-actualization

2. The theory of motivation that focuses on the perceptions of workers of the fairness
of their work outcomes relative to their work inputs is known as: (A) Equity
theory. (B) Valence theory. (C) Instrumentality theory. (D) The needs
hierarchy theory.

3. A group of managers meets face-to-face and generates and debates a wide variety
of alternatives from which to make a decision. This is called: (A) Delphi
technique  (B) dialectical inquiry (C) brainstorming (D) nominal group

technique

4. Fiedler’s least-preferred coworker questionnaire seeks to measure what leadership
factor?  (A) subordinate needs (B) leader’s style (C) situation (D)

subordinate coworker influence

5. An employee's perception about the extent to which his or her effort will result in a
given level of his or her performance is known as: (A) Valence. (B)

Expectancy. (C) Instrumentality (D) Equity.

6. Under clan control, employee behaviors are regulated by:  (A) peer pressure (B)
shared values and norms (C) brainwashing (D) strict hierarchical

mechanisms

7. A manager increases the number of tasks that a subordinate has to perform in order
to attempt to make the job more interesting for the subordinate. This is called:
(A) Job simplification. (B) Job enlargement. (C) Job enrichment. (D) A

matrix structure.

8. The line of authority that extends from the upper levels of management to the
lowest levels of the organization is:  (A) authorized line of responsibility (B)

unity of command (C) responsibility factor (D) chain of command

9. According to Maslow’s hierarchy of needs, an individual who wants to buy a home
in an expensive neighborhood with a low crime rate is satisfying which need?
(A) esteem (B)safety (C)physiological (D) self-actualization
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10. An organization monitors the number of customer returns for each product modeli
to attempt to recognize when the organization is producing a large number of
defective products. This is an example of:  (A) Feedforward control. (B)
Concurrent control.  (C) MBO control. (D) Feedback control.

1. According to Herzberg’s Motivation-Hygiene theory, which of the following is
considered a motivator? (A) pay (B) working conditions (C) hygiene
factors (D) responsibility

12. The manager of a fast-food restaurant keeps track of the number of customers
served at different periods of the day in an attempt to plan a schedule for workers
that matches the demand for the restaurant's products. This is an example of:
(A) output control.  (B) Bureaucratic control.  (C) Input control. (D) MBO
control.

13. According to the Ohio State studies, which of the following dimensions of leader
behavior refers to the extent to which a leader is likely to define and structure his
or her role and the roles of group members in the search for goal attainment? (A)
intelligence structure {B) psychological structure (C) initiating structure (D)

consideration structure

14. Which type of control do managers typically use in the input stage of the process
of transforming raw materials into finished goods?  (A) Feedforward control

(B) Concurrent control ~ (C) Feedback control (D) Bureaucratic control

5. Which of the following refers to the rights inherent to a position that allow a
manager to tell subordinates what to do and expect them to do 1t?  (A)
Responsibility  (B) Unity of command (C) Chain of command (D)
Authority

16. In the administrative model of decision making, when the number of possible
alternatives to a decision is so large that the manager cannot possibly evaluate
all of them before making a decision. this is called:  (A) satisficing. (B)

bounded rationality.  (C) brainstorming. (D) devil's advocacy.

17. Theory Y assumes that people inherently:  (A) want to belong more than
anything else  (B) avoid responsibility and need to be closely controlied {C)
want to work and can exercise self-direction (D) work to satisfy hygiene

factors
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18. Control that takes place while an activity is in progress is known as which of the
following? (A) feedforward control (B) concurrent control  (C) feedback

control (D) management control

19. When a manager redesigns the job of a subordinate so that the subordinate has
more responsibility over his or her job, this is called: (A) Job enlargement. (B)
Job simplification. (C) Job enrichment. (D) Job reduction.

20. Which of the following is the power that arises because of a person’s desirable
resources or personal traits?  (A) Expert power (B) Referent power (C)

Reward power (D) Legitimate power
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1. The statistic (n-1)s*/ o * is a chi-squared distributed with n-1 degrees of freedom only if:
(A) the sample has a student r distribution with degree of freedom equal to n-1

(B) the sample has a student ¢ distribution with degree of freedom equal to n

(C) the population is normally distributed with variance equal to o ’

(D) the population is normally distributed with variance equal to s’

(E) None of the above

2 2
2. Let X and Y have a bivariate normal distribution with ¢ X:25 e Y=36 »and p=0.5. Then the

covariance of X'and Y is

(A)25  (B)20  (C)15 (D) 10 (E)5

3. [f a test of hypothesis has a Type | error probability of .05, this means that
(A) if the nuli hypothesis is true, we reject it 5% of the time
(B) if the null hypothesis is true, we don’t reject it 5% of the time
(C) if the null hypothesis is false, we don’t reject it 5% of the time
(D) if the nuli hypothesis is false, we reject it 5% of the time

(E) None of the above

L WIZEE (35 41 0 34 5 47)

. Wi ABB » i P(4)=05 > P(B)=03K P(ANB)=0.1 < g :
(DPBlA=___ -
Q)P(A|ANB)=________ =«
(B)YP(ANB| AU B) = :

2. iR o AR — W I P g E R ARG B IS BRI AR 0.2 -
e -
(iR ERESFAIRAO A2 ERRR 7
(2)7 305 N B H e e 2 S REHR 10 R - RIS ES BRES B IR M RO RR
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CERR EEWITESBBNE 2 (IREE T BROT 255

| T mEE e %
i 36000 32000 34000 |
feste 7 3200 2500 3800

(1)t —MEITHEFNEBRBETHE (e = 0.05) BB ESTERBTIE
FEHTE] -

(2) IRE =T8T FERFH IV FIIBUETHEE 7 Fr0005=3.1504 » Fep2005=19.4791

(3) HEHH ANOVA FEIH -

7O~ TR EAGMERIE Y=o+ B X e K=1,...,n 8] ANOVA 40T © (25 43)

Source D.E Sum of Square
Model 1 0.982336
Error 9 0.017664

C Total ] 1.000000

(D) KEEZFH -

(2) KEAEE n="7

(3) K R*=?

(4) FAEE G FHH EEZ ANOVA R EB AEEHE ? WEF B » ERHGEHE
B%?

(5) FEZE Tt FE” ANOVA FARER =0 FILBITE ? LWETLA » FHEE
a=0.05TF > Hy : fi=0EFEEE ? Flo000s=5.1174 » Fo005=240.543






